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Embryology - lecture (3)

 

1. Baby born with absence of philtrum because incomplete
fusion of :
A- Medial nasal processes.
B- Maxillary process and median nasal process. 
C- Maxillary processes.
D- Maxillary process and mandibular process. 
E- Mandibular processes.

Answer: A
2.Baby with no philtrum is :
A- Median harelip.
 B- Medial harelip.
C- Unilateral harelip.
 D- Bilateral harelip.

Answer: A
3. median nasal process gives all the following except:
A) premaxilla
B) primary palate
C) anterior nasal septum 
D) posterior nasal septum 
E) philtrum

Answer:D


